
𝑦 = 𝑥ଶ − 6𝑥 + 5                                                 𝑉𝑒𝑟𝑡𝑒𝑥 = (3, −4)

𝑦 = 𝑥ଶ − 6𝑥 + 5
𝑉𝑒𝑟𝑡𝑒𝑥 =  ൬

−𝑏

2𝑎
⎯⎯⎯, 𝑦൰

𝑉𝑒𝑟𝑡𝑒𝑥 = ൬
−(−6)

2(1)
⎯⎯⎯⎯⎯⎯, 𝑦൰

𝑉𝑒𝑟𝑡𝑒𝑥 = ൬
6

2
⎯⎯, 𝑦൰

𝑉𝑒𝑟𝑡𝑒𝑥 = (3, 𝑦)

𝑦 = 𝑥ଶ − 6𝑥 + 5
𝑦 = (3)ଶ − 6(3) + 5
𝑦 = 9 − 18 + 5
𝑦 = −4

𝑉𝑒𝑟𝑡𝑒𝑥 = (3, −4)

𝑉𝑒𝑟𝑡𝑒𝑥 =  ൬
−𝑏

2𝑎
⎯⎯⎯, 𝑦൰

Substitute 3 in for x and solve for y

𝒙 𝒚

1 0

2 −3

3 −4

4 −3

5 0

Vertex:

𝑦 = 𝑥ଶ − 6𝑥 + 5
𝑦 = (1)ଶ − 6(1) + 5
𝑦 = 1 − 6 + 5
𝑦 = 0

𝑦 = 𝑥ଶ − 6𝑥 + 5
𝑦 = (5)ଶ − 6(5) + 5
𝑦 = 25 − 30 + 5
𝑦 = 0

𝑦 = 𝑥ଶ − 6𝑥 + 5
𝑦 = (2)ଶ − 6(2) + 5
𝑦 = 4 − 12 + 5
𝑦 = −3

𝑦 = 𝑥ଶ − 6𝑥 + 5
𝑦 = (4)ଶ − 6(4) + 5
𝑦 = 16 − 24 + 5
𝑦 = −3

ቆ
−𝑏

2𝑎
⎯⎯⎯, 𝑐 −

𝑏ଶ

4𝑎
⎯⎯⎯ቇ

AOS: Average Two Horizontal 
Points (𝑥 − 𝑖𝑛𝑡ᇱ𝑠)

𝑥 =
1 + 5

2
⎯⎯⎯⎯⎯

𝑥 = 3
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